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C'i = 515
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Y I {sin(x))"2cos(x)+2
(0.955,2. i85)  and (2.  187,  1.6 i5)

gradient = -1

period = ?tt' 100, amP = 0.3851100

dY - 2 sin : cost .r - sin' x
&

g) t = 0,ir,Lr,0.956, 5.328, 2.186, 4-097
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h) l, = 

7f, 
dilation parallel y-ocis sf 4

b) t*C..o 0.92'60o.o8s = 0.0656
c) 0.92*0.05 = 0.046
d) i) 0.034

ii) 0.034/0.08 = 0.425
e) 500* 092 = 460
f) 460f0.08 = 36.8
g) 0.050
h) 0.90r
i) 500 needs to be 2.3263 standard deviations
above the mean
So the mean is 486 and this means n = 528.
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h) Br"uo is cheroest uP to lC0km-

Ajet is cheapest tbr distances qre3ter than
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